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& General Instructions

Read the following instructions very carefully and strictly follow them :

() This question paper contains 34 questions, AlL questions are compulso;

() Marks are indicated against each question,

(i) Answers showld be brief and to the point.

(v) Answers to the questions carrving 8 marks may be from 50 to 75 words.
() Answers to the questions carrving 4 marks may be in about 150 words.
(1) Answers to the questions carrving 6 marks may be in about 200 words.

(vit) Attempt all parts of a question together.

is the step in the controlling process where standards may have
to be revised in case the deviation can not be corrected through
managerial action.
A)  Setting Performance Standards
(B)  Measurement of Aqtual performance
() Comparing Actual Performance with standards and analysing deviations

(D) Taking corrective action

Choose the incorrect statement with respect to levels of management from
the following :

(A) Operational level management is responsible for maintaining quality
of output.

(B) At middle level management, managers carry out the plans
formulated by the top level managers. :

(C©) At top level management, the managers are responsible for all the
activities of the business and its impact on the society.

(D) At top level management, the managers co-operate with other
departments for smooth functioning of the organisation.
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(A) Identification and division of work

(By Departmentalisation

(C) Assignment of duties

(D). Establishing authority and reporting relationship

s ety
to catering

A multinational sweets and snacks company had been 1n

business for the last many years. To add to its prospects and to grow 1n
the long run, it wants to increase its sales volume. the number of
and capital investment.

The organisational objective of management it seeks to ac:
Survival

Profit

Growth

Corporate Social responsibility

yieve 18 ©

4)
B)
(©)-
D)

The picture given below is the package of a perfume bottle :
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: Identify the level of packaging of the box shown above :
) (A) Primary package

) (B) ,Secondary packaging

) (C) Transportation packaging

: (D) Both (A) and (B)

|66/4/2/R4PSQ/21 P




.

B 66/4/2/R4PSQ/21

Raiat wae earrving on a business of manufacty

plastic plates, plastic cupa and plast trAWaE
upcoming ban on aingle use plastice. He was able

environmental trend which could hinder his fipm &

took action and shifted to manufacturing the plates, ups and atraws
¥ g 5y *‘ Hit

bamboo and palm leaves, As a result, bis buaness T8

was able to generate profit.
The point of importance of Business Environment highhighted above

18
(A) It enables the firm to identify opportumities and getting the first
mover advantage.
|

(B) .It helps the firm to identify threats and early Warning signa:s

(C) It helps in tapping useful resources.

(D) It helps in assisting in planning and policy formulation.

Paval was working in a Multinational company. Her father &1
smart phone worth ¥ 40,500 on her birthday. The mobile phone was
purchased by her father from his friend's shop. After few months. the
mobile phone started creating problems. Payal tried to contact
manufacturer many times but he did not respond. Ultimately Paval
decided to file a complaint against the manufacturer.

The approprate
grievance redressal machinery where Payal can file a complaint 1s:

4
rRNe
e

(A) . District Forum/Commission (B) State Commuission

(C) National Commission (D) Supreme Court

Which of the following is NOT a feature of demonetisation 7

o
”

(A) It leads to creation of a less-cash or cash-less (free} economy
channeling more savings through the formal financial svstem and

paw

improving tax compliance.

(B) Itis interpreted as a shift on the part of the government mdicatmy
that tax evasion will no longer be tolerated or accepted.

(C) Itis viewed as a tax administration measure.

a‘?;‘.ga

(D), It led to tax administration channehsing savings away from ©

forma) financial system.




34
Lyka Ltd. launched its new range (.1f 11vrhn,l gshampoos ab the beginning of
the vear. As per legal framework, Lyka [td. pmv‘u!(sri the name and
address of the manufacturer, the weight, manufacturing date, expiry date,
maximum retail price etc. on the package and Jabel of the herbal
shampoo.
The consumer right highlighted above is :
(A) Right to choose (B)- Right to be informed

(C) Right to consumer education (D) Right to safety

0. ‘Tt is a process that allocates or directs funds available for investment 1nto
their most productive instrument opportunity’.
This is known as : v
(A) -Financial planning (B) Financial Intermediation

(C) Allocative function (D) Capital budgeting

1. Which of the following is an advantage of Informal organisation ?

(A) It provides stability to the organisétionl because behaviour of
employees can be fairly predicted since there are specific rules to
guide them. .

(B) It leads to effective accomplishment of goals by providing a
framework for the operations to be performed.

(C) - It enhances the employee’s job satisfaction since it gives them a
sense of belongingness in the organisation and allows them to find
like minded people.

(D) It helps in avoiding duplication of efforts as there is no ambiguity in
the role that each member has to play.

12. is the process by which a manager synchronises the activities of
different departments.
(A) Management (B) Planning
(®) iCo-ordination (D) Directing
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Statement - I : That part of a brand which can be 8po

kenn 18 ra”"d 14

brand name.

=} " " g 4 .

Statement - II : That part of the brand which is given legal p
called Trademark.

rotectinn 1a

Choose the correct option from the following :

(A) Statement I is true and Statement II is false.
(B) Statement II is true and Statement I is false.
(O) - Both the statements are true.

(D) Both the statements are false.

is the process of holding securities in electronic form.
(A) Financial Intermediation B) Dematerialisation

(C) Allocative function (D) Mobilisation of securities

Samaira and her friend, Sana wanted to watch a movie over the weekend.

They booked the movie tickets online and chose the seats as per their
preference at the click of a button at the desired movie hall. Now going to

theatre for booking of tickets is no longer required.
The dimension of business environment reflected in the above para is :
~(B) Social environment

(A) Political environment
(D) - Technological environment

(C) Legal environment

Statement — I : Business Environment is dynamic as it differs from

country to country.
Statement — IT : Business Environment is largely uncertain as it is very

difficult to predict future happenings.
Choose the correct option from the following :
(A) Statement I is true and Statement II is false.

(B) .Statement II is true and Statement I is false.

(C) Both the statements are true.
(D) Both the statements are false.
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Which of the following i sno? i ]
management; ? g is NOT a feature of ‘Directing function ” i
B Directing initiates Action.
' (B) Directing takes place at every level of management
é‘ " 2 : . . ’
| (C) . Directing ensures that activities are performed as per plans.
(D) Directing flows from top to bottom.
)
) 19, ‘Marbury.biscuits’ launched its new range of oat cookies in three varieties.
} " They decided to distribute free samples of their biscuits in schools as 2

part of their promotional campaign.

Tdentify the tool of promotion used by Marbury Biscuits’ : 1
(A) Advertising (B) Personal Selling

(C) . Sales Promotion (D) Public Relations

Exchange Board of Tndia given in

90. Match the functions of Securities and
1

Column-I with their headings given in Column-II : ey
b o Column-Il

Lo
Column-
A. | Training of intermediaries of securities | (1) Regulatory function
'g

; markets e o e
B. | Regulation of takeover bl(ié‘_w@,ﬁﬁ_;ﬁMRCf}Q_&ﬂ&ngﬁ@ﬁa,

| (. | Controlling insider trading and imposing | (i) | Development function
" o ity \ {
enalties for such practice® "

R e Sl
orrect alternative :

i

Choose the ¢ ' 23
(B) Al); B(i); Cli)

T~~~
S —
N N NS S S NS\ SN

(A) A(i); BGid); C@) R e
: (C)+ Aiiy; B C(i) (D) Aliil); Baw); C(1)
b < Page 13 > p.1
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”

a “kff.\,? wp 1 § ceigutinga [ hae
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goal of the start up was tq mal
¢hrough 1ts services *_;\‘.ﬂlm«mn; G
living conditions i slums «;t'
5}“‘“”“50(‘;“ social work, they adopted 1}

and started educating the slur Ly Wree
Aman used ‘playway i“::‘_}:nj}u? q““‘“‘»“'ﬁ in their own creative manner
while Ashi used ‘E‘;Cfi\*;t k : Ashish uged ‘music’ aa a method of learning
qowledge in thei ’ ‘1} based method of learning’\ They used basi
knowledge in their unique manner ek )
dwellers.

ROCind Y atral jmpact
WCIAL jiyd epvivopmental R phed

SUDDOYE o
\; vOrsS sucia) buasineas tlens Lo L prove
) 1”‘1!5“{ \\ ‘“ ifhé' fi“‘“"‘ ifif‘““e”‘ AT

lifferent alums of Mumbm

and were gble to educate the slum

t implies that skillful &
I-arie: from individ E}q d‘nd‘p‘e rsonal application of acquired know ledge
\( ) rIdentif\ and ltla to individual in achieving desired results.
a Yy stat 5 »
ate the nature of management discussed in the above
case. e 15
uoting lines ; . .
(®) Qf - = ijrf)m t}_le above para, state any two features of nature
of management identified in (a) above

95 {a) State any four points that highlight the importance of directing
function of management. 4
OR
() Explain the following as ‘Semantic barriers to communication’ : 4
(1) Badly Expressed message
(ii) Symbols with different meanings

2( Nishi had gone to a grocery store to make routine purchases. On reaching
home, as she took out Binx tomato chips packet from the bag to give it to

kitchen weighing scale and found that it weighed 60 grams whereas the
label on the chips packet mentioned the weight of the packet as 100
grams. She approached the manufacturer and complained about it. The
manufacturer offered her a gift hamper and requested her not to disclose
this to anyone. Nishi refused to accept the gift hamper and took the 1ssue

to a redressal agency.
(a) State two responsibilit

above case.
(b) State any two reliefs which can be granted to Nishi, if the consumer
ith the genuineness of the complaint.

ies discharged by Nishi, as a consumer, m the

court 18 satisfied w
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b)
; her son, she felt that it was underweight. She checked its weight on the
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was made complying with the -
Board of India.

Identify and state four factors affect:
discussed above. -

Explain the following factors affectin
2 company :

24

(a) Production cycle

(b) Seasonal factors

for the last fifteen years. With their
manufacture good quality solar panels

profit margin.

(a) Identify and explain the incentives given by

its employees.

(b) State the needs of the employees being met by s

Maslow’s Need Hierarchy Theory.

f EK‘,‘V;;,: Ve

kv yed
e SELY Sty
S Teducy

th

‘Shanta Enterprises’ was in the business of

Enterprises’ was flooded with orders an

To motivate the employees the company decided
of them for their hard work. Arvind and Yogesh, who
contract basis, were absorbed permanenily in the comp
happy as now there was stability about their &1
regular employee of the company, working as Rese
Head, was awarded the ‘Best Employee of the
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33,4796131 started her own cooking channel on Youtube Mood Art’.

s’\‘ l‘.\‘]ﬂnm the fl‘\”n\\.nur at
? ate

“‘ SQ\IOCt 10nN ’l\hiif.u . .’f !h‘ | 4

Selecting process
() hn’mluyxm:\nt Interyi
T view
OR
o State any

four po;

Ponts .

; 8 of ¢ , .
management. Importance of ‘Staffing function of

(@ Explain the following ag types of
(1) Objectives Bhaes :
(1) Policy
(i) Programme

OR

il
by~ Explain the following limitati
( )/, ollowing limitations of planning function of management : 6

b

() Planning reduces creativity.
(i) Planning involves huge costs.

/(m) Planning does not guarantee success.

7

As her

subscribers iricreased, she was not in a position to manage everything on
her own. She hired Rahul and Riya to help her with filming, editing,
granted authority to theih to operate
able to use her time on high
d content development
tunities to develop and
s and meet the

lighting and content research. She
within ipr,escribed limits. She was thus,
priority activities like Adeveloping new recipes an
etc. As a result, Rahul and Riya were given oppor
e. Preeti was now able to focus on objective
g a subscriber pase of one million in six months.

Preeti to focus on

exercise initiativ
target of achievin

(a) Identify the conce

objectives of her business and mee
f importance of the concept identified in (a)

pt of management used by
t her targets.

() Explain any five point 0

above.
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\nkur Sachdeva did his MBA from TR 1+
4 2 trom ITB University

3 ) TR T O i

hig KNOWICAZe of scentify anageme 3
randgeinent in the ¢

S 'L 1IN the fast

.~ ¥ 3 § el
‘\':\“f‘h‘(‘ Bean’ set up by hin

Ko bag of AK § art of 1t
Sl“?‘i“\} etd. a8 a part 01 its menu

Now & dayvs pe ar i
L days people are quality conscious

standardised raw materials, processes
machinery etc. The obwjgﬂ;,:,: “i)hi\ebiw ‘meth«,ds. e X
s s, T v m\t- " i : as to establish standards of eﬂsmv By
S o AL et L',m} able to reduce the cost but was also able w0
provide new varieties of burgers, fries and shakes leading to increased
urnover.
Ankur Sachdeva also believed that there was only one best method
to maximise efficiency. As a result he developed best way of grilling
burgers, cooking fries and preparing shakes. His main objective was &
maximise the satisfaction of customers, which he was able to achieve.
Not only to learn the best way of doing a job, but to perform ¢
tasks efficiently, ‘Coffee Bean' regularly invests in training
development programmes to equip employees with the necessary skill an
dge. ‘Coffee Bean' believed that efficient employees will produ
nsure their greatest efficiency ar

1

knowle
more and earn more. This will e
prosperity for both company and workers.

e case highlights the use of Scientific principles and

The abov
Explain any one such principle and tw

techniques by ‘Coffee Bean'.

techniques.
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